Ki, Mobility

N
Flip for x:panda Base Frame
Growth Slnut—l
B
:Ji;l ;_,@:] [« @ |
2. N T’ ;

,,é,;;: ,fﬂ_?:(g;. 1o i) PartNo. | Used on Width | Length
P - - 12.5°

—— "Langth” —]

Length
13*
Please Note: The color for the Base Frame Assemblies and Frame Plates is the "Accent Color" for the Flip.
Item Number Part Number  Description Quantity
% 33153 B 502791 Base Frame Assembly Std, Right 1
% gblg’ 45, 502792 Base Frame Assembly Std, Left 1
1 001818 Frame Plate, Outer 1
2a 002624 Frame Plate, Right Inner, FLIP 1
2b 003240 Frame Plate, Left Inner, FLIP 1
3 001819 Cover, Frame Plate 1
4 001838 Axle Bar, Standard 1
5 001878 Tilt Yoke 1
6 001837 Saddle, Axle Bar 1

08-06-2025



[tem Number  Part Number  Description Quantity
7 002634 Frame Growth Strut 12.5" 1
8 002626 Strut Mount, Rear 1
9 001820 Spacer, Frame 1
10 000987 Threaded Fastener 4
11 102786 Iglide Flange Bushing 2
12 100670 M6 x 45 BTN SHCS BLK zZC 1
13 100669 M5 x 10 BTN SHCS BLKZC w/Patch 4
14 102792 M6 x 25, HHCS, BIk Zn 1
15 100658 M6 Nylock Nut Blk Zn 2

08-06-2025




